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1. Huw has designed a new clothes hook.

He has made a rough sketch as shown below.

9cm

Bem

60° 90°

8cm

Diagram not drawn to scale

Use a pair of compasses and a ruler only to construct an accurate drawing of Huw’s design.
You must show all your construction lines.
[5]
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The map below shows the island of Majorca.

360 - 135 - 235

(a)  Find the bearing of Palma from Alcudia. 5295 i 1]
(b)  Artais another place on the island of Majorca.
Arta is on a bearing of 073° from Palma and on a bearing of 130° from Alcudia.
Indicate where Arta is on the above map of Majorca. [3]
(¢) The distance between Alcudia and Palma is 54 km.

Write down the scale of the map in the form 1 cm: CIOCQ m

..................... bom | SEkEwm
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(d) A new runway site is being planned for a different island.
A diagram of the plan for the runway site is shown below.

Diagram not drawn to scale

Find the size of the angles x, y and z.
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3. (a) The diagram shows an aerial view of some cars parked in a street n Spain.
The scale of the map is not shown.

Using the cars as a guide, complete the following statement.

1cm represents approximately 4' metres

(1]
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(b)
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A different aerial view shows a tree with its branches spreading 2 metres in all directions

from the tree trunk.
The tree has many branches and many, many leaves.
Using a scale of 1¢m to represent 0-5 metres, show how this tree would look from an

aerial view. lcw\ = 0 SR = g m = Gem 2]
/ i 2% (/ G.C

: A,\ (Ompass
4 g =
/ 2.0

l!/ V l*. E

/

l "

gL ©

&\,‘ Tree trunk
\ /
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Diagram not drawn to scale

At the end of the experiment, a computer produced the graph shown below.

Length of spring (mm)
4

In an experiment, the weight added to the end of a vertical spring is gradually increased.

(grams)

H : Weight added
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(b) (i) Calculate the gradient of the straight line drawn on the graph.

Gl oY = IOUEREIEIE . viani oo

2

v
(c) The straight line stops before the right-hand edge of the graph paper.
Why do you think this might be?
Spn . Broars
"""""""""""""""""""""" 1]

(d) Inasimilar experiment, weights of up to 100 g are added to the end of a different spring.
The following data is recorded.

Weight added, W (grams) 0 100
Length of spring, L (mm) 35 235

Using the data given above, complete the formula to give the length of the spring, L mm,

for different weights added We.

We Xnow - L=m K.W " 35 _____

L K Owe rC

ool
(oei gl (Mjé@
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Dees Print, a graphic design company, finds that they
use 2 yellow, 8 red and 20 black cartridges each week.
So. Dees Print always orders yellow, red and black
cartridges in the ratio (g‘ : 8 : 20 respectively.

_—~~" —

(@)  Dees Print orders 210 cartridges in total.

How many cartridges of each of the colours yellow, red and black are there in this order?

b3 -242«20=20

] Wieat g ..... Ol = G = oF

Number of yellow cartridges ‘<f'

Number of red cartridges 5£

Number of black cartridges |40

(b)  In another order, x yellow cartridges are ordered, along with the corresponding number

of red and black cartridges.
T'is the total number of cartridges in the order.

= Wy
Write down a formula for 7 in terms of x. '/ M {/

Give ygur answer in its simplest form.

e Kl U sl r g

Jotal = xté= +i0>
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6. Iona needs to give a presentation to her work team.

Her boss has asked her to include a box-and-whisker plot in her presentation.
Iona works in a sales team, selling new telephone systems to large companies.

She had been given some sales data by her boss, as shown below.

s

LR

ViR \//

Meek /

Lo/

Cheapest system sold £30
Most expensive system sold £140
Median price of systems sold £60
Lower quartile price of a system £50
Upper quartile price of a system £100

VR

On the graph paper below, draw a box-and-whisker plot using the data that Iona has been

given.

&

. \—.—-t =

EESScsaiisass
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7. A chemical factory makes a liquid that is used in the production of a waterproof fabric.

A cylindrical tank is used to collect the liquid made in the factory.

The moment the tank is full, it starts to empty the liquid into a tanker in readiness for delivery
to a company which makes the waterproof fabric.

This process is continuous during the week, but the production stops at weekends for maintenance.
The graph shows the process of the tank being filled and emptied into the tanker.

Depth of liquid in the tank (metres)

o T [T TR i | it 2
#7IN B 1
NHEHT R
1 [ W) I
— 1. AYEE ] I I
___i. I \l 111 T
i T [
I 1 B I HEE S
PN
T
I —\—= Time (hours)
3 S

(a) What is the depth of the liquid in the tank 2 % hours into the process?

55 metres

(1]

How long, in minutes, does it take to half fill the cylindrical tank?
.............. ol W M v 5 oINS ST LR I
.......................... £ .00 % 80 = 3 wiac
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(¢) The tank is left empty over the weekend.
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The continuous process starts each Monday at 07:00 by filling the tank.
This process of filling and emptying the tank continues until shutdown on Friday.

(1) Explain what is happening at 20:00 on Monday, giving the depth of the liquid in

e bo fill sad_ompty 1S Shouis
IS I3hovrs

0700 —2A0.60
____.,7 s s }’WWS nte. 57056
D? his 6;4/1 o°E 3/7&(//\3 mcfe ycé_

You will be assessed on the quality of your written communication in this part of the

(ii)
question.
The process has to shut down with the tank empty as soon after, but not before,

19:00 on a Friday. At what time should the process shut down on a Friday?

You must show all your working.
HV vis el een. OF.00 mondla (o Loy 20

(24x4%) + 2 = (0% hodr 5 ______________________________________
eed s bo be multipl y

{7»44@ procaes | As roFPSS
?[ /0 novrs /Lee@ée@( & (:cufapsﬁhwh’“

C =2 9 e 0&5)
' fmsh tm/w, [ ProcesSls 2

hm/rs lonaer 1400 12 - 21:00

U
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A potato producer uses a machine to sort his potatoes.

The potato producer carried out a survey to investigate the probability of
oversized potatoes passing through his sorting machine.

The relative frequency of oversized potatoes passing through the machine
was calculated after a total of 100, 200, 300, 400, 500 and 600 potatoes.
The results are plotted on the graph below.

Relative frequency of oversized potatoes

i 0“
I I B T o e | 11 | EEEL
I O O R ! I i & : I
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044 OH e ‘ ® ;
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! ; I &i‘i‘ i I ! } 1l ‘ EREE
, Hi - 1?{ | i 5 i A j i _ ‘ | ‘
0 ) ! 11 t | 2% I 11 | EEEEE I | : i I -

0 100 200 300 400 500 600
Number of potatoes
passing through the
machine

(a)  Write down the best estimate for the probability that one of these potatoeé, selected at
random, will be oversized.
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(b) A trader offers to buy oversized potatoes at 15p each. i

How much would the potato producer receive if he decided to sell, to the trader, all the
oversized potatoes in the first 100 potatoes sorted by the machine?

100 pobatoe have 04 probeabnl
%b@v% over sy 2@0(
= g

________________________ 00 X0 %= 40 oversizd, ﬂ&ém t.
P g e

Bl

(¢c) The potato producer decides not to sell his potatoes to the trader.
He sells 900 potatoes to a market stall holder.
The potato producer sells these potatoes for £4.50 per 100 potatoes.

He has agreed with the market stall holder that he will give a 2p refund per oversized
potato discovered.

What would your best estimate be for the amount you would expect the potato producer
to make from this transaction?

_P[oba }(' % 0v€fSer%p0 tal (s C’) 49&40'" “//
= AT ?ov@rs:zee( oS = ‘700 X @ .
P nCQ,_ ____________ 3 ._%aze.cs.z ____________________________________ Bq{xo ....... e, _az Z

paé&z(ae,ﬁ%oo.-:‘rf?ﬁg
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Some data is found on two different websites, www.sciencenow.

about some of the planets.
The data found varies slightly between the two websites.

WWW.sciencenow.com

Planet Radius, km Mass, kg
Mercury 2439 3-30 x 10%
Venus 6052 4-87 x 10%
Earth 6378 598 x 10%4
Mars ;3\9} 642 x 1023
Jupiter 71492 1-90 x 10?7

(a)  Write down the radius of Mars, in km, correct to three significant figures in standard

form for both of the websites.

com and www.planetalong.uk

www.planetalong.uk
Planet Radius, km Mass, kg
Mercury 2439 33 x 105
Venus 6052 49 x 10
Earth 6378 6-0 x 102
Mars 3304 6-4 x 1033
Jupiter 71398 1-9 x 1077

www.sciencenow.com 36{0)“03 km

www.planetalong.uk

EWIEC CRACT +d
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(b)  Use the data found at www.sciencenow.com to complete the statement below.
Give your answer correct to two significant figures.

Mass of Venus = OCC'S) x Mass of Mercury

N e A

> 2= _\/_: 489005 = 19957

/V\ oy |

(¢) () Themasses of the planets are recorded differently on the two websites.
Explain fully this dlfference

Liust table \S +0..2.%19 f1G...
Semﬂ% z,%(éé Vel I Riis

(ii) Calculate the difference between the values stated on the two websites for the mass
of Mars.

Give your answer in kg, in standard form

{a2r10*3. 4 B 5 . P
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10. Raul has been asked to look at some data.

He is asked to write the data in the form 2", where # is a whole number or a decimal.
Write the following numbers in the form 27,

| e

(a) 51? i 3 -.:_x—_;‘ &=

_________________________ CTumRT - SR TaR .
.............................................................................................................................................. b —
A (<®)” - b
........................... St S AL i oo o Sl i g
Js_ ....... o
() (48)> 12 -'—é—— 3 AR \/;:
e (U s RGN VR | ol
........................................................ e R RSl
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11. Sue rode her bike along a cycle path.
She started her ride at 12:00.
The graph shows information about her cycle ride.

Velocity (km/h)
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By considering every % hour of Sue’s cycle ride, use the trapezium rule to calculate an estimate
for the total distance travelled in the first 2 hours.

Give the units of your answer. L hour

Dishae = fea_ckr ine. - PP
SDistance =4C0 +8)x0:5. +/Cg+“)xo o i il
_____________________________________________________________ +J”CH+@X05+J’CCH—’+)X05
____________________________________________ = Q.f-Q?S o . N 9
s e NS e S W
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t the time, in hundreds of

quency table show some information abou
hours, that a number of similar light bulbs lasted.
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(a) Complete the frequency table and the histogram shown opposite.

9 204 Differonce & Va(vﬁ‘éO

ghe= " 0_____.?: Lo

ao -7 30 D/,ffere/zce, 0. Va/ae 20

(b) Find the estimate for the number of light bulbs that lasted between 2000 hours and
2400 hours.

(¢)  There are 56 bulbs that lasted less than y hundred hours.
Calculate an estimate for y.

-
_____ 56 Liec \n ron

Turn over.
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13. A fountain has jets of water that start from water level and reach different heights.

Rosie has taken a photograph of the fountain.
She has also recorded some information about one of the jets of water.

She finds
* the maximum height of the jet of water is 625 metres
* atits maximum height it is at a horizontal distance of 2-5 metres from the start of the jet

of water
» the shape of the path of the water is a symmetrical curve

éi\ai_
=l ]

Rosie finds that the path of this jet of water is represented by y = —x? + bx, where y is the

vertical height, x is the horizontal distance and b is a constant.

(a) Find the equation that represents the path of this jet of water.

e S o o j: _____ 'DCQ*'SDC __________________________
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(b)  The path of a different jet of water is represented by y = —x? + ¢x, where y is the vertical
height, x is the horizontal distance and ¢ is a constant.
This jet of water hits the surface of the water in the fountain 6 metres away.
The path of the jet of water is symmetrical.

Draw a sketch of the path of this jet of water.
/\ You must indicate on your sketch
>

* the horizontal distance measured as the jet of water reaches its maximum height
¢ the maximum height of the jet of water
e @x;“'CDC-gf,,_ .................................

v o~

W hoe =3 j-‘- -—C3):+663) D/a,g]
il = -9%+18 =9
—~
/ E;IZ OF PAPER //{4 X/

Recavse maximt/m/ :
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